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The figures in the margin indicate full marks for the questions

1. Answer each of the following questions by writing only the actual
correct words : 1x10=10

SO ICIRA STORION TeT® (e 20 I 0% X% fordi

(a) Give the Sanskrit equivalent of ‘ATil".
QR T AT eifen i ol |

(b) Who is the author of Caryapada?
‘'Y BT (I ?

(c) When was oral literature (f1R&® W) transformed into written
form? '

R SRR e FilfRa 22

(d) Who is the author of “fg®I"?
<GP’ o @ 7

(¢) Who is meant by FF?
FIPE' AR FIF FHR (LR ?

t

8C/22 ' ( Turn.Qver )




(2)

(f) The 2nd Canto of the “IfZF™I’ opens with the description of the
autumnal season / rainy season / wintry season.
( Write the correct word only )

e’y R 51 *oTER / |/IER /| MoIPR IR =S

==
( 9= % *1<7Ce1 o )
(g) The ‘ot a7 F7=7 is an Akhyayika / a Katha / a Mahakavya / a
Khandakavya.
( Write the correct word only )
1% swel wamwm/ﬁm/ﬂm/wwu
( 3= o *RIo! B )
(h) Who is meant by TRHq?
‘AR’ AN I O (R ?
(i) Write any one cause of earth pollution as you find in your lesson
‘HEHITHHHAT .
“TIUTEAT AR 656 PR o e B e FReT it fors |
() Name the disease that may be caused by the sound of Jet
Aeroplane.
&% R 199 [ ‘ﬂﬁ‘:_ RIRCHR A f&rdi |

Answer the following questions (the answers must be in sentence) :
2x7=14:

O PIRRT Te T (THIER IR T AMR) ¢
(a) Why did Rama go to the hermitage of Viévamitra?

I R Reyfiar smmes gaifet 2

(b) Mention two powerful kings of ancient Kémarﬁpa as you find in the
Sati Jayamati Kavya.

T TS IS e SR PR T RPN IR Temy 74 |

8C/22
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(3)

(c) Name the two plays written by Bhavadeva Bhagavati.

ST SR Tl 74 BT AW fors o

(d) What are the four stages of Assamese culture?

SER SR BIRGI B [ [ 2

“ FEHATSAAMEEHTA SeqaT 91 SgfdaT 3 a9 TR
What are the four different types of Assamese festivals referred
to here?

2q® SCEd 91 SPIRE SPTIYRCR BIR SR S R 2

(e)

(f) Mention two major causes of air pollution.

R 2R YOI T PR oAy ¥4 |

(g) Mention two measures suggested by the author to stop earth
pollution in the lesson ‘TYITHHET.

‘W’WWWamﬁaﬁ«mmm*fmm
it " eEy 1 |

3. Translate the following : 4x2=8

wors AR S 4

(a) AYFAFIN TSUOTHAET G HEH GHET WAEA | RAFEewmEeRdT
DR TAEIGTAT ;. TIORT TR FROT Wa: | IIOERT T F90
IwFl TeEgt: wEf, A g RRwr sy S

Or / |1
VORI TS T GGEUIARYT 4R I, SR - QRESa

| | g R SFter SEECTRREROT ISR | JuT e
AT A | N et ST Aeg e it

8C/22 ( Turn Over )




(4) |

i

(b) IE: GhdaTET: GepaRiveme: | sl ReerEr saeamEt (fRamt)
T U TR RRET | Je-Se: e ot g )
e TUed | |

I

Or / Je31 l

|-

T AR TAEAIN: HRE-eT-T: W@ I G- f
3Wq§wﬁazrﬁmﬁlﬂiﬁiwmwwﬁﬁﬁg@ﬁxgﬁm |

|G AEIeE TR | i

!

4. Explain any two of the following with reference to the context (taking JJ
one from each Group) : 6><2—12f.
PRIHS (rER SR R @ wrm g ¥ (o am - oM '[
GROUP—A / F—>Nt 1f

(a) framewian: T e ﬁaﬁmm Ty | ]
FoIT OFadT 3 Wivee eTEE: || /

!

(b) 7 THS T GIRTES T T g IHICI ;
T TRISE T A T F6 T G 9 SR IV | ¢
GROUP—B / 4—l

(c) Jog Raead YFwmEmIET !
g ¥ wnfie: W g |

WIfig WEET HeRid ) )

i

(d  Rygecet q ma@mmm ”
et e w |

Ji

11
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(5)

§. Answer the following questions :
T 2T Ted Tl

(a) Who is Gadhisuta? What are the two spells taught by him to Rama?
Why did he teach Rama the two spells?

S @ 27 (963 T I P R Ry & &2 o8 & w1
I TRY SRl FieRfRE 2

Or / J1

Describe the natural scene that Rama beheld when he was going to
the hermitage of ViSvamitra.

T RRGR SRwtel 6T iR oI arpfes g R i o

(b) Describe the natural beauty of the hermitage of Vasistha as you find
in the Satf Jayamati Kavya.

B TENO! TS (IRl 40T IV RN AR ST 01 3+ |
- Or/9[I

Write ‘a note on the contribution of Bhavadeva Bhagavati to
Sanskrit literature.

S HIROHe SACR SO SR SRS fy it ford |

(c) . AT STREEpd: T qARERIsR )’
Justify the statement. of the writer.
@R eI LTl & |
Or / &1

Write the names of the ancient temples with their locations as
mentioned by the writer in the lesson ‘SeHaREHE:".

TR WWWWWWWWW
Fees Giee fordt

8C/22
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(6)

(d) Discuss the bad effects of air pollution.

Y 2R FFEPTYR S0 41 |

Or / J=[1

Write how water pollution is caused in the modern age.

YT 5T T 278 @A qCo, B4 |

6. Write notes on (any three) :
wafe ; Ta¢ ; 3ied ; o ; el ; sefiig )
7. Answer any five of the following questions :
©o] T (P #Ai6b1 2r T 341
(a) Decline any four of the following :
©orq R c@1e SRR *wrel i
(i) 99 in 99T singular
e 2ER GFITS
(ii) g in ¥EHT plural
i+ 4 32307
(iii) 91g in f&dMT dual
|1y fa®re fageTe
(iv) 919 in ¥ singular
ATg WK GFI0TS
(v) Ta8q in Sg4t plural
BES SRS

(vi) 3™ in FdHET dual
g pord fadeTe

8C/22
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2x3=6

4x5=20

(7))

(b) Conjugate any four of the following :

woq [ (@i BIROR drp=aet fordl
(i) ¥ in BT second person singular
VY FIE PR T T GBS
(i) =3[ in ¥< third person dual
V] B AR A4 7FF oo
(iii) @ in @< first person plural
VY FE TR TTH J[FH IO
(iv) V& in faf4f#E third person singular
V& fafeferg s/ 299 759 9IS
(v) 3T in W first person plural
V3TY G2 AR TEH T IZI0AO

(vi) V& in @1 second person dual
V& B AR T oFH oo

(c) Give the resultant forms of any four of the following :

woiq T @ieal vifReR Feom can @t fordd -
&+ @ AT+ T VR O+ I IR+ I
TN + Y ; Vg + FIT

(d) Substitute single words for any four of the following :

woiq R (PICT BIFRBR 9Bl *Rre P F41
T6 AN ; WG W ; wgE O ; g g fasfy ; e
AT ; RS (I o

(e) Write a note on f8Tysg with examples.

8C/22

TrzgepTE. FreTrerg o @it (BRe 2rge 4 |
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( 8)

(f) Correct any two of the following :
o] R I o1 e o

(i) T~ e 9 e i)

(i) §: AT AR
(iii) TR O, S
(iv) 3 &9 T
8. Translate into Sanskrit any five of the following :

©o (I #ATooR Iieepoe SEEm 4

(a) Sanskrit is the mother of Modern Indian Languages.
AP S SO SRPTIRA Gl |

(b) Kalidasa composed two epics and three dramas.
FIETET 737 T2y S fofAe o e |

(c) Knowledge without modesty is useless.
HOIRRN @ wpTS |

(d) Character is the greatest wealth of a man.
o s RSl B 0 |

(e) Nothing pure is there as knowledge.
IS ST i 38 TR |

(f) Valmiki composed the Ramayana.
TRPCT TR -1 e |

(g) Sita went to forest with Rama.

] =191 et F=¢e Calfee |

ok
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